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v W W HIHT 1. Candidate must enter his / her
4 T Question Booklet Serial No.
(10 Digits} in the OMR Answer
Sheet. ..

.~ Candidates are required to give their
answers in theirr own words as far

as practicable.

Figures in the right hand margin
indicate full marks.

15 minutes of extra time have been
allotted for the candidates to read
the questions carefully.

This question booklet is divided into
{wo sections — Seection-A and
Section-B.
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 are answered, then only first 35 will
be evaluated. Each question carries
1 mark. For answering these
- circle with blue / black
ball pen against the correct option
on OMR Answer Sheet provided to
you. Do not use whitener / liquid /
blade / nail etc. on OMR Answer
Sheet, otherwise the result will
be treated invalid,

In Section - B, there are 20 short
answer type questions. Each
carrying 2 marks, out of which any
10 guestions are to be answered.
Apart from these, there are 6 long
answer type questinns, each
carrying § marks. Out of which any
3 questions are to be answered

Use of any electronic q ppliances is
strnctly prohibited.
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mark your selected option, on the OMR-Sheet. Answer any 35 questions.

Pyroligneous acid contains

2% acetic acid

©

10% acetic acid

2. CHyC—Ni, ¢ U

Question Nos. 1 to 70 have four optio;

(B)

(L)

50% acetic acid

(D) 2 0% acetic acid

(B)

(D)

(Quaternary salt

-

b .

35 x1=35

1s, out of which only one is correct. You have to

Xk 1 =35

Secondary amine

Page 3 of 32
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Which of the following can be represented by molecul

(A)  Primary@mine (B) | Secondary amine

(C) Tertiary amine D) Al of thes

i
=
K a ) . ' . i
s — ] £ 1 [
I C
: "
- d - - -

(A)

C)

Which of the followin

(A} Nitrile (B)

(€} Carbylamine " (D)

-



Cane sugar on hydrolysis gives which of the following ¢
(A} Only glucose (B) Glucose and maltose

(€)  Glucose and fructose (D)  Glucose and lactose

(A)  Carbohydrates (B) . Lipids
(C}  Protemns (D)  None of these

(B]

When acetylene is passed through dil. H,S0, in the presence of HgSO,, the
compound formed is

(A) Ethyl alcohol (B)  Acetone
(C)  Acctaldehyde o (D}  Carbide of Hg

‘Page 5 of 32
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10.

11.

]: A b ;

e O F’d{HaSD

(B)

D
The reaction, E—-C—Cl + Ho- .Y RCHD + HCI 15 called

Fd;’BaED

A) Cannj Ezﬂl‘ﬂﬁ reaction (B) Rosenmund reaction

(C)  Haloform reaction (D) Clemmensen reaction

(B)

(D)

Which of the following does not give Aldol condensation ?

(D}  Propanal

When formaldehyde reacts with NH 3» then which of the following compounds

is formed ?

(A)  Formaldehyde ammonia (B}  Hexamethylene tetramine

{C} | Fﬂﬂnﬂllﬂ [D} Me }"13.[11 Ine

|- aoﬂs‘lﬁﬁfﬁuj '

- PHHE 6 of 32
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(A) — CHO (B) — CONH,

(C}- — COOR (D) — COOCO —
Which of the following is the functional group of an ester ?

(C) —COOR D) — COOCO —

(C) D)

By which of the following can formic acid and formaldehyde be distin
(A}  Bendict's solution’ (B)  Tollen's reagent

(C) Fehling's solution (D) Sodium bicarbonate

Rifar, RCOOAg + Br, ——» RBr + AgB

(B]

(C) (D)

cCl, _ T
35 RBr + AgBr + CO, is called

(A) HVZ reaction (B) . Hunsdicker reaction

(C) Hoffmann reaction | (D) Carbylamine reaction

15.

(A) K, SO, : (B) NaCl

' Fage 7 ni‘EE
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16.

| 118 ]
Which of the following will have maximum depression in freezing pomnt ?

(A) K,50, hitps://www.bsebstudy.com (B) NaCl

(C}  Urea (D) Glucose

(B)

(D) 96,500 FeTr
1 Faraday is equal to

(A) 9,650 coulomb (B) 10,000 coulomb

(C) 19,643 coulomb (D) 06.500 coulomb

(B)

(D)

What happens when a lead storage battery 1s charged 2
(A)  Lead dioxide dissolves

(B] Sulphuric acid is regenerated

(C) Lead electrode :b-:amme;e. coated with lead sulphate

(D}  The concentration of su Iphuric acid decreases

FEE E of 2
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| 415

T Ta9d &1 HH (25°C W) fgar

Ag "(ag) + e” > Ag(s), E°Agt/Ag=+0-80V

Sn**(ag)+2e - Sn(s), E°Sn2*/Sn=-0-14V

W Deey (B) 080V

The standard electrode potentials for the following reactions arc given

Ag Tlag) + e~ > Ag(s), E°Ag*/Ag=+0-80V

Sn?* (ag)+2e —»Sn(s), E°Sn**/Sn=-0-14V

The electromotive force (EMF) of the given cell

 epdt At
Sn| f’ﬂ | | ”ﬁ | Ag is

H}r:drugun—nx}r'gt:n cell is which of the following types of cell ?
(A Primary cell (B) Secondary cell -

(Cy  Fuel cell (D)  Lead storage cell

F‘agﬂ g of 32
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[ 118 |

(B)

(D)
The rate of a chemical reaction

(A) Increases with tlme

(B) decreases with time

(C) may mr:rease or decrease with time

(D} remains constant with time

21.

(A) CH,COOC,H; +H,0 _ur, CH,4COOH+C,H-OH
(B) CH,COOC,H.+ NaOH——> CH,COONa+ C,H.OH
() 2H, 0, —2H,0+0,

(D)  2N,0;, ——4NOQ, +0,
Which of the following is not a first order reaction ?

(B) CH,COOC,H; + NaOH——CH,COONa+ C ,H:OH

(€) 2H,0,

ZHED + 0_2

Page 10 of 32
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(B)

Citric acid (D)  Tartaric acid

(B)

D)

Which one of the following contains cobalt ?

Chlorophyll (B) Haemoglobin

(D)

(C)

Which of the following is an addition polymer ?

Nylon-6 (B)

(C) Hieh densily polythene (D)  Dacron

collegedunia:
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[ 118 ]

\B)

(<)

) =TS

(D) Buna-s

Chlorogquine is an
) ana'gegs (B) antibiotic

(C) antimalarial (D)  antipyretic

(C)

Wwhich of the following is not a broad spectrum antibiotic ?

(A) (B)  Chloromycetin

(C)  Penicillin (D)  None of these

[C]-[3005-ssr6m |

Page 12 of 32
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(B

(D)

Which of the following is Gammexane ?

(A)  Chlorobenzene - (B)

(<) Benzene hexachloricle - (D)

(C) (D)

All ligands are
(A) Lewis acids (B)

(C) Neutral . (D)

30

(A) Ni(CO)4 (B)

C) [NiCl,]* (D)

(A)  Ni(CO), (B]

(C)  [NiCl,]*" _ D!

DDT

DDT

None of these

Lewis bases

None of these

| Ni(CN), ] %"

o

-

Pa Et': 1 3 t:nl' 32
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(B)

(D)  ATP

1t component of which biomolecule ?

Magnesium is an importazt

(A)  Haemoglobin (B)  Chlorophyll

1C) Flonigen D) ATP

€ [Fe(CN) )™ D) ACE(H,0) )"

,

The complex ion in which central metal atom has no d-electron 1s

A)  [MnO,)" B~ [Co(NH,), 1

L [ Fe| CN}ﬁ ] 4 (D) [Cr{ HE]E 1 3+
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ritiuil wldlcment 18 mcorrect ?

(A} Ni(CQ) 4 Tetrahedral, paramagnetic

(B) [Ni(CN la |© — Square planar, diamagnetic

I€) INi(NH;),]1%* — Octahedral, paramagnetic

(D) [N1C14 ] - Tetr

ahedral, paramagnetic

g J}} CCl . (B} CHCI,

(C) CH,Cl (D) COCl,

Which of the following compounds is used in fire extinguisher ?

(A) CCl, ' (B) - CHCl,

(C) CH,Cl D) CocCl,

(B

©) D)
M’ﬂnnhalﬂgcﬁ de ri;rative: on reaction with alcoholic KOH gives

(A)  Alkane (B) B Elkﬁne

C) Alkyne - (D) Alicyclic hydrocarbon

&
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Sulphide ores are generally concentrated by which of the following ?

A)  Gravit

ation process (B} Magnetic separation process

v sepat

(C)  Froth floatation process (D)  Carbon reduction process

) Al -- (D) Fe
Which of the following metals is not extracted by the process of clectrolysis ?

() Na (B) Mg

(C) Al (D} Fe

Whh of the following metals is purified by Hoope's process ?

(a)  Cu | (B} Al

(D)

collegedunia:
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wihich ol inc lollowing is the gas with lowest boiling point ?

(A} Hydrogen (B}  Helium

he following forms only one oxyacid ?

(A) +2 B) +4

© =8 D) 0

A +2 B) +4

D) O

) +8

(D)

T 1 [anng ceseail

F'ﬂ Eﬂ 1'? m"SZ
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44.

(A)

Which of the followi

1g is the least volatile ?

(B)

(D)

B)

(D)

A

(B)

(D)

(B)

(D)

collegedunia:
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The genceral electronic configuration of transition elements is

& (n-1)d’ B (ne1)di-10 psOior?

[n which of the following is the oxidation state of Mn lowest ?

(A)  MnSO, (B MnO,

(C} Mn;0, (D)  Mn,0-

(B)

(D)

he following is not an actinide ?

(D)  Terbium

collegedunia:
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49,

Which of the following ions is colourless ?

(B) Ca 2t

5 (D) 12

An octahedral void 1s surrounded by which of

spheres ?

<) 38 ' - (D) 12
) C |- [3005-(ss760)

118 |

the following numbers of

| Page 20 of 32
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»es of defects causes a decr

Which of the following ty;

(A} Frenke]l (B)

(C) Interstitial (D) F-centre

An example of colligative pmperi v of a solution 1s

[A) Density (B) Mass

(C) Flevation of boiling pmnt (D) | Tﬁmpﬂmtu

T | [2annNS.ecrem

ease in density ol

o %‘EEE 21 ﬂf'BE.
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[ 118 ]

The number of moles of solute per kg of solvent 1s u::alled

(A) Molarity Molality

(C) Normality

(D) Mole fraction

06

(A)

(C)

Solutions which boil

at a constant temperature without any change in
position is called

[A) Azeotropic nixture (B) Unsaturated

(C) Supersaturated . (D) Ideal

(A)

The reagent which 1s used to prepare 1-Bromobutane from Butan-1-ol is

| Page 22 of 32
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Which of the following conr pounds is formed when — _

CgHg + Cl, (excess)— > 7 https://www.bsebstudy.com.

(A}  Chlorobenzene (B)  p-Dichlorobenzene

(C)  Hexachlorobenzene (D}  Benzene hexachloride

™

srfefia F w ame

59.

Which of the fullmﬁﬁng gives 1odoform test ?
(A CH,OH (B) (CH,},CHOH

(D CH,~CH,-CH,-OH

©

Fape 23 of 32
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rrom

which of the following is methyl alcohol prepared on a large scale ?

(A)

(B) From fermentation of molasses

=0 (D)

groups is present in alcohol ?

(B} — CHO

© JC=0 ; (D)~ —NH,

(B)

™ D)
Which of the following is the most acidic ?

(A} . Phenol | (B}

(C)]  m-chlorophenoi (D) - Cyclohexanol

(B)

(D)

" collegedunia:
o g -

b .

India’s largest Student Review Platform



(C) Rate=K[O;] [O,]

— 30, proceeds as follows :

(D) Rate=K[O;] [O,] 2

then the rate law expression of this reaction 1s

(B) - Rate=K|[O, * Il Oy |~
D) Rate=K[0,] [0,}°

D)

&
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f{}ll{}wmg s

B} 1and?Z

(B)

(D)

Winch of the following is not a lyophilic colloid ?

o1 the following ?

) .
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(D} - Diastase

The rate of chemisorption

(A) decreases with increase in pressure

{B) s independent of pressure

(C} is maximum at one atmospheric pressure

(D) increases with increase 1in pressure

(A} Al (B) Fe

i

€ ca (D)  Na

o __ 305;{'55.5551

”

o
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L 118 ]

The most abundant metal in earth crust is

A) Al (B Fe

Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions. Each qu

carmes 2 marks : https://www.bsebstudy.com

What is carbylamine reaction ?

1
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11.

Write structural formulae and [UPAC names of the tollowing :

(i) Lactic acid

(i) Tartaric acid.

Helium is also mixed witl

the sea. Give reason.
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[ 118 |

What is the utility of leaching in the extraction of Al metal /

Tite the siructure of dichromate u::n

18, l argdde ferfe &1 39w

Give examples of two bidentate higands.

The boiling point of alchohol is greater than corresponding alkane, E lai
_ sponding alkane, Explain.

What i1s Cannizzaro's reaction ?

" Page 30 of 32
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(1)

(T wy / Long Answer Type Questions

estions. Answer any 3 questions. Each
3x5=10

) KMnO,

How does SO, react with the acidic solution of the following ?

23.

Write the principle of manufacture of ammonia by Haber's process. How does it

react with CuSl:l; sohition 3

ary and Tertiary alcohols ?

1

" collegedunia:
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rate of a reaction depends.

25

(b}

What happens when —

‘@) Formic acid reacts with ammoniacal silver nitrate solution ?

(b)  Anilide réactswith chloroform and NaOH ?

. Dn.-.,_ -jr-. _ ﬂﬂ.;
&
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